1
1.1)
100
1.2)
2
2)
2.1)
2.2)
40mm
3)
3.1
5 13

24 (mm/24h)

2.0
3.0

S36 S41
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Rsa

WT H17.6.2

40mm

S31 S35




3.2) Rsa

Rsa Rsa
H8.8.26 H16.10.18 Rsa
12
1 100 (mm/24h)
100 13 (mm/24h)
13 3 14 15 16 16 23
(mm/24h) 13
100 (mm/24h)
2
1
1/500
121.2mm
172 .6mm
1/500
24 272 .8mm
24 348.9mm




Rsa

Rsa Rsa
mm Rsa
Rsa
mm mm
Rsa
k Rsa (k) f (k) A (k)
k=1
k k=2
k=3
k=4
A
k Rsa (k) Rsah (k)
RI k RI (k)
k RI (k)

Rsa(k) x {1 — f, (k)}x A(k)

RI(K) = 5

RI

RI = "RI(k) = RIQ) +RI(2) + RI(3) + RI(4)
k

_ Rsa(1)x - f,M)}x AQ) , Rsa(2)x {1-1,(2)}x AQ2)

A A
, Rsa(d)x 1- £,3)}x A®) , Rsa(4)x {1— ,(4)}x A(4)
A A
Rsa (k) Rsah (k) RIh
k RIh (k) Rlh

RIh =" Rlh(k) = RIn(1) + RIh(2) + RI(3) + RIh(4)
k
=Rsah(l) x {1- f,(D)}x a(1) + Rsah(2) x {L— f,(2)}x a(2)
+Rsah(3) x {1 - f,(3)}x a(3) + Rsah(4) x {L— f,(4)}x a(4)

a(k) = AKK)/ A k

3



Rlh

Rsa(k) Rsa(k)

Rsa(i) _ Rsah(i) Rsah(i)

Rsa(j)  Rsah(j) Rsa(l) = Rean(j) < F*a)
] Rsah (4)
Rsa(K)
~ _ Rsah(1= ) y )
Rsa(l = )= Rsah(e - ) Rsa(4= )
_Rsah(l=  )x %
~ _ Rsah(2 = ) y ~
Rsa(2 = )= Rsah( =) Rsa(4= )
= Rsah(2 = ) x %
~ _ Rsah(s= ) y B
Rsa(3 = )= Reah(= ) Rsa(4= )
= Rsah(3 = ) x —Fij]((“:_ ))
B _Rsah(4= ) 8 B
Rsa(4= )= —Rsah(4 ) Rsa(a= )
—Rsah(4- )x %

RI =RI(L) + RI(2) + RI(3) + RI(4)
_ Rsa(4)
" Rsah(4)

x {Rsah(1) x {L - f, (1)} x ax(1) + Rsah(2) x 1 - f,(2)}x a(2)

+Rsah(3) x {L - f,(3)}x a(3) + Rsah(4) x {L— f,(4)}x a(4)}

{} Rih

_ Rsa(4) 8

= Rlh Rsa(4) = RL x Rsah(4)
Rsah(4) Rlh

4

Rsah (k)



k Rsa(k)

Rsa(k) = Ril'h « Rsah(K) = ‘ Rsa



a(k) = AKK)/ A

(km2) 1.26 0.96 0 5.38 1.37 42.83 51.80
(%) 24 1.8 0 104 2.6 82.7 100
(km2) 2.71 0.46 2.77 11.97 1.17 75.94 95.00
(%) 2.9 0.5 29 12.6 1.2 79.9 100
(km2) 78.82 5.33 20.97 76.65 4.90 313.23 499.99
(%) 15.8 1.1 4.2 15.3 1.0 62.7 100

Rsa (mm)
55 300 50 150
0.80 0.30 0.00




Rsa

55> (1-0.80)>< : 0.024 = 0.264mm
300> (1-0.30)>< 0.018 = 3.780mm
50> (1-0.00)>< 0.104 = 5.200mm
300> (1-0.30)><  0.000 = 0.000mm
50> (1-0.00)><  0.026 = 1.300mm
150> (1-0.30)>< 0.827 = 86.835mm
97.379mm

55> (1-0.80)><  0.029 = 0.319mm
300> (1-0.30)> : 0.005 = 1.050mm
50> (1-0.00)>< 0.126 = 6.300mm
300> (1-0.30)>< : 0.029 = 6.090mm
50> (1-0.00)><  0.012 = 0.600mm
150>< (1-0.30)>< 0.799 ~ =83.895mm
98.254mm




Rsa

55> (1-0.80)>< :0.158 = 1.738mm

300> (1-0.30)>< : 0.011 = 2.310mm

50> (1-0.00)>< 0.153 = 7.650mm

300> (1-0.30)>< . 0.042 = 8.820mm

50> (1-0.00)>< :0.010 = 0.500mm

150> (1-0.30)>< 0.627  =65.835mm

86.853mm

H8.8.26 H16.10.18
(mm)

8.8.26 112.3 80.1 —
16.10.18 65.5 36.2 37.4




Rsa

H8.8.26
Rsa(mm)
55 =< 112.3 97.3719 = 63
300 < 112.3 97.379 = 346
50 < 112.3 97.3719 = 58
150 =< 112.3 97.379 = 173
55 < 80.1 98.254 = 45
300 < 80.1 98.254 = 245
50 =< 80.1 98.254 = 41
150 < 80.1 98.254 = 122
H16.10.18
Rsa(mm)
55 < 65.5 97.3719 = 37
300 < 65.5 97.379 = 202
50 < 65.5 97.3719 = 34
150 < 65.5 97.379 = 101
55 < 36.2 98.254 = 20
300 < 36.2 98.254 = 111
50 =< 36.2 98.254 = 18
150 < 36.2 98.254 = 55
55 < 37.4 86.853 = 24
300 < 37.4 86.853 = 129
50 < 37.4 86.853 = 22
150 < 37.4 86.853 = 65
(mm)
8.8.26 190 207
154 204
271 551 2904
16.10.18
246 567 3009




